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Paper : GE-3
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The figures in the margin indicate full marks
for the questions

Paper : GE-3 (A)

( Indian Economy )

1. oo frapiyzd ot Sea forar 1x8=8

Answer the following as directed :

(@) ClEIRPI 592 ;
What is globalization? |
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(b)

(c)

(d)

(e)

(9)

24P/303

(2)

‘Towards faster and more inclusive

growth’ 7% wisfe 5! A« IRE AfPsEl 24

The Five-Year Plan in which ‘towards

faster and more inclusive growth’ was
targeted is

(1) < “fFF (9th Plan)
(i) TN *{$PF (10th Plan)
(ti)) < A (11th Plan)
(iv) AP “{$FE (12th Plan)
(®= Tealt s Shreat )

( Choose the correct answer )

(CPIET A TG SR SolT Rehl Wi
i 2

Who had propounded the concept of
Human Development Index (HDI)?

ﬁmawm{%mﬁsqm?

What do you mean by infant mortality
rate?

MGNREGA-3 s/ soitht oy |
Write the full form of MGNREGA.

TSR Qe 9

What is incidence of poverty?

SR ToET WY R ifee 2
What was the base of Taiwan Model?

( Continued )



(h) SIS FEPRA APE @I 9T TS HoS 2

In which sector maximum number of
labour force of India are involved?

2. © WY R @Il 6iReR 89ve 5 Gt/ e
foral (2fSTH1 o =1 foews) : 4x4=16

Answer/Write short notes on any four of the
following (within 150 words each):

(@) Wi [T e 7959

Import substitution and protection

(b) SIS WF W (FIRAN NG TR AoFT FI
el F9

Compare the HDI rank of India and
South Korea.

(c) 99 =IF itifes wliwet

Absolute and relative poverty

(d) SLATST S Seimie Boite ey

Population as a factor of economic
development

(e) TTRYF TSpIgH
Demographic dividend
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o oPTIRY Bad Rl (RSt oo e fESTS) -

Answer the following questions (within 500 words

each) :

3. (a)

(b)

4. (a)

(b)

24P/303

ANF-FEToR FloT©o  SiFeq e o
F=ATE STl F9 14

Discuss the condition of the Indian
economy on the eve of Independence.

&4/ Or
ST Spdd BT 2% T GRS ARefo
ARS F==itF ==l F4 | 14

Discuss the new Economic Reforms of
1991.

TR T o 157 F (FCCE A A =,
7t 4+10=14

What is Human Development Index?
Explain how Human Development

Index is calculated.
{1/ Or

SAeq qH AF forzal e TEATE SHTED
Eall 14

Discuss about the age and sex
composition in India.

( Continued )



( §)

5. (@) SRo® wRwel 7RFI91 AR g2 Fq [few
PRI KW it 4 | 14

Explain the various measures taken to
alleviate poverty in India.

9/ Or
(b) SIS fRE TV 2l Wi TR AR
HICEo < | 14

| Discuss the nature of unemployment
! and its estimates in India.

6. (a) TLAST TmaAE 3@ feosE, whEd il
I BIRAN SIeTs 9 SARPTR G [ 14

Explain the measures taken by ‘
Singapore, South Korea and Taiwan for |
economic development.

</ Or
(b) SIS TiF Beofie SIS TomEre gt
4l | 14 i

Comparatively analyse the economy of
India and Singapore.
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Paper : GE-3 (B)
( Money and Financial Markets )

1. oo P ot Sea ol 1x8=8

Answer the following as directed :

(@) Y@ QIFT Gl fora |

Write the formula for money multiplier.

(b) TR @I [RER NEeial w2y ?

Which of the following is not a financial
intermediary?

(i) TP dfspi
Business firm
(i) WIS
Broker
(it) T5e R &=
Stock exchange

(iv) s

Regulator
( wam T@dw! 3 Sfrsar )

( Choose the correct answer )

(c) SEBI-F =54 ®w! fordi |
Write the full form of SEBI.

24P/303 ( Continued )




(d) SRS ABRSCE AT v Ko wbra A
ferat |

Name the oldest stock exchange in
India.

(e) TH IR MH Tag

Interest rate differential is

(i) ARFY 9 eogs g 9 G AT
AL ANITST SofT® Si=qe T T 2
DT i R

difference between interest rate on
consumer loan and saving deposit

(@) RBI-4 f4dd 391 o3 7@ 29 A%
BleTe W1 Q9 ST~y

difference between previous rate of
interest and current rate of
interest fixed by RBI

(iii) R ¥R T RiGEIeT T 21 oiie
& I dors Ay |
the direct difference between the
percentage of interest rates of two
similar investments
(iv) @79 oIS w2y
None of the above

( Wm Se! A Sfereat )

\
( Choose the correct answer ) }
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0

(9)

(h)
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(55 4

@@ W3 R I @B S ST P

Mention any one element of Balance
Sheet.

Sdfifes yoR @el PRl IIRE O
(PING! e PRI AP ?
Which of the following is not an
instrument of monetary authority to
control money supply in an economy?
(i) =N I| Al
Open market operation
(ii) ST
Moral suasion
(iii) AT AFEITS!
Marginal requirement
(iv) @ = ]I S
Principle of note issue
(= SeI! I Sfereat )

( Choose the correct answer )

T& 9dAifes @ AREmt /g e
A TTR @G WS s T =72

Which of the following policies is more

effective for monetary management in
an open economy?

() @fes e
Monetary policy

( Continued )




(i) IR S
Fiscal policy
(i) IB-=WN s
Export-import policy
(iv) S HOIRCHEH!
All of the above

2. 5 G ot (R et wife) - 4x4=16
Write short notes on (any foun :
(a) SIOS YWR QN
Money supply in India
(b) MEGT RFI T=oF ARl

Portfolio management of commercial
bank

(o) THN-ReT Rem Afsdi
Non-bank financial intermediaries
(@) FEw Tge R =
National Stock Exchange
(e) RéR 2R S

Functions of financial system

3. 93 TLAifo® U @IANTT SAMMER &5 592 SR
T @R @ ANl @EmE deRifie =72
SIS 34 | 6+6=12

What are the components of money supply
in an economy? Discuss how money supply
influences the general price level.
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R R AR~

( 10 )

&7%q1/Or
5 et fort - O 2s
Write short notes on :
(@ &R IS
Functions of money
(b) Twi¥ B
Money multiplier

12

4. 9 w{Aifee R ST S 70 SHEsa)
I | 11

Discuss the role of financial institutions in
an economy.

2§/ Or

T I ] o1 | Jovaw IS99 I AE By
TS PG 4G | . 3+(4+4)=11

Define capital market. Explain the functions
and importance of capital market.

5. R8w 9w 9w fr7 @97 Smea wdffos Rl
T BRI SToirE TzeE ot 9 | 4+7=11

What is financial system? Elaborate the role
of financial system in a developing economy.

271/ Or

SEBI-T =) SIF FRI98 Swizaehiz it 391 |
5+6=11

IMlustrate the objectives and functions of
SEBI.
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6. > 29 WM & Brait | sy wpaq st
?@ﬁ*ﬁawﬁ DA 4t | 4+7=11

What is term-structure of interest rate?

Explain the expectations theory of term-
structure of interest.

7=/ Or
T 2 FERTS OiRey-Afer gl et g
11 T 29 oS iee-Rfew e aptot
APRCTA? (ONR TGJ oo Ifs il 6+5=11

Explain the role of liquidity-preference in the
determination of the rate of interest. Does
liquidity-preference approach offer a
satisfactory explanation about determination
of the rate of interest? Justify your answer.

7. AR @FT At 3B =i e =91 2=
SRS g w4 | 7+4=11
Discuss the process of credit creation of

a commercial bank. Explain the limitations
of it.

=91/ Or

OIS @SR AT RT REw i w49 | 11
Discuss the banking sector reform in India.

Paper : GE-3 (C)
( Environmental Economics )

1. oo frEhiey orrRist Ses fori 1x8=8

Answer the following as directed :

(a) TR Fgw ol |

Define externalities.
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(b)

(c)

24P/303

{ 12 )

oq IR e PiefeT I Sfars
s Rperel il e AE?
Pigovian tax can be impose.d to correct
the problem of market fallure. in the
presence of which of the following?
(i) TATSIsTS e JfES!

Positive externality in consumption
(i) TRATTS el P!

Negative externality in production
(ifi) TSNS HArE el

Negative externality in consumption
(iv) S€°R9 IbI8 72Y

None of the above

@RRY STifes TRFT CFa© IS w2

In which form of property rights regime
excludability is the highest?

(i) IfETS T=oifeq S
Private property rights

(ii) S Toifeq s
Common property rights
(iit) AfEGE Toifer wkR
State property rights
(iv) I ~ifey SfRiq

Open access resources rights

( Continued )



( 13 )

(d) SFGA 945’ e et

(e)

(9)

24P/303

M(?ntreal Protocol was signed in
(i) SSb¢ e
1985
(i) S54% BI©
1972
(iii) S5b1 DIS
1987
(iv) S55% TS
1996
ARl SSRIT G5! Tniza |

Give one example of pollution permit.

F5F 999 G5 ARTel SEd 9|
State one limitation of Coase theorem.
o ol CagoreidEici SR IENAR

AfFae TREE T T=A?
Which of the following is not included
by the price mechanism of the

competitive markets?

(i) AR T JRI T

The use value of environmental
resource
(ii) -9 T
Non-use value
(iii) TR TV
Non-market value
(iv) S (i) T (i) Aol
Both (i) and (i)
{ Tum Quver )



M T S QA TS TS
(@I BAE (ORI SouiERe ? j
sustainable

In which year the ;
development concept of eg:onomlc.s Wa?S
first forwarded in the United Nations

(i) S>b0/1980
(ii) S>¥1/1987
(it) $53¢/1975
(iv) S>%0/1960

2. oo @RS R @IE siRGR esfae 53 Gl fordl
(AFSTt S¢o *%q Tog®) : 8 §:4=20
of the

Write short notes on any four
following (within 150 words each) :

(@) ST =T ANfes 7om Bpieet AR
Environment as an economic asset and
social asset

(b) TR (PPTES fAINIR FRPTR

Major causes of deforestation in the
developing countries

(c) AT QR CRES JPINAY ST JF-F=12PT!
Cost effectiveness of tradable pollution
permit in controlling pollution

(d) Te<EbEw g5

Loss of biodiversity

(e) PRIG-GBReba 32 FolR (&N
Pearce-Atkinson measure of sustainable
development

24P/303 ( Continued )




(b)

4. (a)

(b)

| 24P/303

»

=

TN s
ST #sw &b Wﬁ MR

Mfen fom o

T EF P
TN et T4 | 3+10=13
What is |

CnVIronmental

v ] ?
quCUSS the economicss:

and problems
onmental €economics.

What do you mean b lure?
What are the cay T S e

uses of market failure?
Why does market fail for environmental
quality? Discuss.

WWWI@WWW
@D “=_ SeReeH |

Explain the environmental problems in
Assam with a special reference to solid
waste management, deforestation and
watershed management. Suggest a few
practical solutions to the problems.

2§/ Or

TR (PPIRA AR A% 70 AR e
@ = 41 |

13
Give an account on the environmeqtal
policies undertaken in developing
countries.
{ Turn Over )

3+4+6=13

9+4=13



5. "(])

(b)

6. (a)

(b)

( 16 |

sifRcaiy e AR ET ‘J’ﬂ”‘f'l_"f‘mf@rlm
SICEIBA Nil sffacay sed ﬁoﬁ 4{(4.’1:1 1]
I TA U HCLS o fsa e e

contingent valuation method
aluation. Show the

measuring non-
tal resources.

Discuss the
of environmental V
benefit of this method in
user value of environmen

{1/ Or
ot e oy o RS AR

HItEoA 1
Explain the various methods  of
valuation of environmental goods.

13

T SR QIENC Gl | = AR
@FEME GRA AR el F9 5+8=13
Explain the concept of sustainable
development. How do we measure
sustainability? Discuss.

&</ Or

TR AR JTF NF IZTH ORF IS
wive Rfer SEwifos ez S4® STl
RIREnE 13

Explain the various international
agreements related to the global
concern for environmental protection
and sustainable development.
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